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Part A: Grammar

Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

1-The designer, ... fashion shows were visionary collections, set trends and inspired fashion
enthusiasts globally.
1) at his 2) at whose
3) whose 4) in which

2-The community center hosted a cooking class for ... wanted to learn how to prepare delicious and
healthy meals on a budget.
1) whomever 2) those
3) whoever 4) all

3-Having participated in the workshops and seminars actively, ... to join a professional networking
event organized by the conference.
1) and invited attendees 2) the attendees were invited
3) who have invited attendees 4) attendees invited

4-The story of Adam and Eve, the first people ... by God in the Bible, provides insight into the origins
of mankind.
1) with creating 2) who created
3) to create 4) who were created

5-Lionel Messi, the greatest soccer player of all time, is celebrated for his extraordinary talent, ... he
consistently delivers remarkable performances on the pitch.
1) however 2) so
3) for 4) consequently

6-In 1492, Christopher Columbus arrived in the Americas and by 1500, European settlers ... colonies
in the Caribbean and Central America.

1) would have established 2) were established
3) established 4) had established
7-1t seems likely that by the end of this semester, the schedule for the upcoming exams ... by the school.
1) are being finalized 2) would have been finalized
3) have been finalized 4) will have been finalized

8-The grand oak tree, estimated to be centuries old, ... more than 20 tons, and serves as a majestic
presence in the world.
1) is weighed 2) weighs
3) weighed 4) was weighed
9-She wouldn’t find herself grappling with financial hardship in the current juncture of her life ...

more prudent with her finances during her youth, diligently accumulating savings.
1) were she 2) had she been
3) unless she had been 4) as long as she were

10-Several years ago during her journey home, if she had possessed prescient knowledge, she surely

.. for an alternative route, ensuring a timely and stress-free arrival.

1) might be opting 2) would have been opted
3) might be opted 4) would have opted

11-... in the last war, Mr. Richards, resilient and deserving, was in receipt of a pension, a gesture of
governmental acknowledgment for his sacrifices and wartime ordeal.
1) Having been grievously wounded 2) Grievously wounding
3) Having grievously wounded 4) He had been grievously wounded

12- ... the meeting surprised everyone and caused a rescheduling of the crucial discussion on project
deadlines and strategic planning.
1) He couldn’t attend 2) Whether he couldn’t attend
3) That he couldn’t attend 4) Owing to he couldn’t attend

13-The manager explained ..., highlighting the impressive results and emphasizing the significant
contributions made by each member.
1) that had been achieved 2) what achieved
3) that it is to achieve 4) what had been achieved
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14-Expressing her strong dissent, she is vehemently opposed ... long, tedious meetings that not only
lack productivity but also fail to yield meaningful outcomes or constructive discussions.
1) attend 2) to have attended
3) to attending 4) attending
15-Discovering the aftermath of a car accident, my father was astonished to find ... amidst the
wreckage, a testament to both survival and resilience.
1) six wounded men alive 2) six wounded alive men
3) alive six men wounded 4) wounded six alive men
Part B: Vocabulary
Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases marked
(1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on
your answer sheet.
16-Looking ... at the magician, the 4-year-old was trying her best to figure out how the numerous
tricks were being done in the performance.
1) cynically 2) whimsically
3) skeptically 4) assuredly
17-Wanting to ... its customers, the company started introducing a new series of products that would
raise some interest in people.

1) sustain 2) renounce
3) retain 4) reserve
18-The tragic pile-up certainly took everyone by surprise in terms of the ... and magnitude of the devastation.
1) capacity 2) scope
3) distance 4) stretch

19-Despite his many contributions to the production of those popular songs, the middle-aged
drummer didn’t receive as good a ... as he’d expected when he left the band.
1) welcome 2) parting
3) send-off 4) hospitality

20-After learning about the serious consequences of lying under oath, the witness decided to ... her
previous testimony.
1) recant 2) recognize
3) remember 4) reinforce

21-It is crucial for us to acknowledge and ... the mistake in order to maintain trust and credibility
with our customers.
1) magnify 2) diminish
3) justify 4) rectify

22-The athlete signed a/an ... contract with a major sports brand that made him one of the highest-
paid athletes in the world.
1) noxious 2) lucrative
3) absurd 4) nasty

23-The ... value of friendship lies in the deep connection and support that it provides through good
and challenging times.
1) intrusive 2) instinctive
3) intrinsic 4) instructive

24-The scientific breakthrough ... any doubts about the effectiveness of the new treatment, leading to
widespread adoption.

1) promoted 2) multiplied
3) encouraged 4) eradicated
25- Apparently some people have an inborn ... to develop certain kinds of tumor.
1) tendency 2) mobility
3) imposition 4) tension
26-Researchers concluded that low level ... to the chemical was unlikely to cause harm.
1) opposition 2) entrance
3) exposure 4) reaction
27-Throughout the Cold War, the Allies ... their right to move freely between the two Berlins.
1) completed 2) asserted
3) conferred 4) reviewed

28-A volcano is an opening in a planet or moon’s crust through which molten rock and gases ... under
the surface erupt.
1) burst 2) traced
3) saved 4) trapped
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29-The other morning, I was so ... in a letter from Jane that I missed my subway stop and I had to
wait for another twenty minutes.
1) devoted 2) overlooked
3) engrossed 4) truncated
30-My brother, who has a healthy ..., had a second helping but I found the starter so filling that I
could barely finish my bowl of soup.
1) appetite 2) hunger
3) aversion 4) delegate
31-After going through a difficult breakup, he decided to watch a movie, which was a/an ...
experience for him, as he felt all his pent-up emotions released and he cried his heart out.
1) kinetic 2) ecstatic
3) therapeutic 4) chaotic
32-She had done a lot of research before making her choice and she was ... about her decision, so she
did not let anyone sway her with their opinions or arguments.
1) confident 2) curious
3) anxious 4) indifferent
33-His manners were ..., and he always treated everyone with respect and courtesy, never saying or
doing anything that was rude or inappropriate.
1) sloppy 2) impeccable
3) practical 4) imprecise
34-Despite her effort to ... an excuse for missing the deadline, her manager knew it was just a cover-
up for poor time management.
1) elicit 2) take
3) lubricate 4) fabricate
35-She was forced to ... as manager after a series of controversial decision led to poor performance
for the team.
1) confess 2) regard
3) undertake 4) resign
Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct
choice on your answer sheet.
36-
1) The animal was injured died during the rescuers’ attempt as they tried to lift it using airbags.
2) During the rescuers’ attempt the injured animal died but they have tried to lift using airbags.
3) The rescuers tried to lift the injured animal using airbags, but it died during the attempt.
4) Using airbags the rescuers that were trying to lift the injured animal it died during the attempt.
37-
1) These sports which were said to give the rush of adrenalin that some feel was lacking in modern life.
2) These sports are saying to give the rush of adrenalin that some feel is lacked in modern life.
3) These sports said to give the rush of adrenalin that some feel has been lacked in modern life.
4) These sports are said to give the rush of adrenalin that some feel is lacking in modern life.
38-
1) The student, whom was not familiar with the resignation procedure, had no idea what she should do.
2) Not being familiar with the resignation procedure, the student had no idea what she should do.
3) The student had no idea what she should do, for not being familiar with the resignation procedure.
4) Having no idea what she should do because of unfamiliarity with the resignation procedure.
39-
1) The child, being of an independent nature, didn’t want anybody to help him.
2) Being of an independent nature, nobody wanted to help the child.
3) Not wanted to be helped by anybody, the boy was of an independently nature.
4) The child was of an independently nature and he didn’t want helping by nobody.
40-
1) Having reviewed career opportunities, he graduated with a Bachelor of science degree, however he
decided to return for an advanced degree.
2) When he had reviewed career opportunities, he graduated with a Bachelor of science degree, however
he decided to return for an advanced degree.
3) Deciding to return for an advanced degree, but when he had reviewed career opportunities, he
graduated with a Bachelor of science degree.
4) He graduated with a Bachelor of science degree but he decided, when he had reviewed career
opportunities, to return for an advanced degree.
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Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.
A: Hi Maria! How are you? How’s life treating you?
B: Hi Lucy. I’m doing okay. Life is pretty routine and stress-filled. It’s ...(41)... , to be honest.
A: Oh, I’m sorry to hear that. Is everything alright between you and John?
B: It’s been a while since John and I split. I don’t think continuing this life is worthwhile.
A: I understand it must be tough for you. But, Maria, you have a daughter. Maybe it’s worth
considering ...(42)... with John for her sake.
B: Lucy, I appreciate your concern, but it’s just not possible at all. The hurt runs deep, and right
now, all I want is for him to feel the pain he caused me. He will regret doing this to me, maybe
not today, maybe not tomorrow because ...(43)... .
A: 1 get that emotions are running high, Maria. Just take your time to process everything. If you
ever need someone to talk to, I’m here for you.

41-1) no spring chickens 2) nothing to write home about
3) jam tomorrow 4) blessing in disguise

42-1) going with the flow 2) tightening your belt
3) mending fences 4) getting the sack

43-1) revenge is a dish best served cold 2) the early bird catches the worm
3) never the twain shall meet 4) too many cooks spoil the broth

A: Did you see the doctor? Is your sister ...(44)...?
B: Oh Jerry! I’'m ...(45)...; I’m afraid she’s going from bad to worse—it has been two hours!
A: Stay calm! She’ll be fine. I’m sure she will.

44-1) up in the air 2) in blossom
3) over the hill 4) out of the woods
45-1) in stitches 2) at my wits ends
3) on cloud nine 4) full of beans

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the

correct choice on your answer sheet.
In today’s fast-paced world, it’s becoming increasingly difficult to maintain a regular sleep schedule.
With endless distractions, work deadlines, and social ...(46)..., many people are staying up later and
later into the night. However, research has shown ...(47)... numerous benefits to sleeping early in this
modern era. First and foremost, getting enough sleep is crucial for maintaining good health. Studies
have linked chronic sleep ...(48)... to a wide range of health problems, including obesity, diabetes,
heart disease, and even depression. ...(49)... to bed early and getting a full night’s sleep, you’re giving
your body the time it needs to repair and recharge, which can help to prevent these and other health
issues.

In addition to its physical benefits, getting enough sleep can also have a significant impact on your
mental health and well-being. Lack of sleep can lead to irritability, mood swings, and cognitive
impairment, ...(50)... it more difficult to concentrate and be productive during the day. On the other
hand, getting enough rest ...(51).... your mood, reduce stress and anxiety, and help you stay focused
and alert. One of the biggest challenges to sleeping early in this modern era is the ...(52)... availability
of technology and the 24-hour nature of the digital world. Smartphones, tablets, and computers are
all potential sources of distraction that can keep you up late into the night. However, many experts
recommend setting a “digital curfew” for yourself, turning off all electronic devices at least an hour
before bed to give your brain ...(53)... . Finally, ....(54)... noting that sleeping early can have a positive
impact on your social life as well. If you go to bed at a consistent time each night, you can better
«:(55)... your schedule with that of your family, friends, and colleagues, making it easier to coordinate
social activities and maintain relationships.

46-1) scandals 2) mysteries 3) obligations 4) perspectives
47-1) that there are 2) that so many 3) what is 4) they are
48-1) pattern 2) tendency 3) realm 4) deprivation
49-1) If gone 2) By going 3) Despite going 4) You are going
50-1) and makes 2) it makes 3) made 4) making
51-1) improves 2) can improve 3) has improved 4) is improved
52-1) constant 2) luminous 3) innocent 4) tranquil
53-1) preparation for sleep time and unwind 2) sleep time and prepares it to unwind

3) time to unwind and prepare for sleep 4) prepared to unwind and sleep time
54-1) last but not least 2) to name but a few 3) it’s worth 4) it goes without
55-1) deliver 2) align 3) share 4) withdraw
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Part F: Reading Comprehension

Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the questions

about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The wide variety of climates in North America has helped spawn a complex pattern of soil regions. In
general, the realm’s soils also reflect the broad environmental partitioning into “humid America”
and “arid America.” Where annual precipitation exceeds 20 inches (50 centimeters), soils in humid
areas tend to be acidic in chemical content. Since crops do best in soils that are neither acidic (higher
in acid content) nor alkaline (higher in salt content), fertilization is necessary to achieve the desired
level of neutrality between the two. Arid America’s soils are typically alkaline and must be fertilized
back toward neutrality by adding acidic compounds. Although many of these dryland soils,
particularly in the Great Plains, are quite fertile, European settlers learned over a century ago that
water is the main missing ingredient in achieving their agricultural potential. In the 1970’s, certain
irrigation methods were perfected and finally provided a real opportunity to expand more intensive
farming west from the Central Lowland into the drier portions of the Great Plains. Glaciation also
enhanced the rich legacy of fertile soils in the central United States, both from the deposition of
mineral-rich glacial debris left by meltwater and from thick layers of fine wind-blown glacial
material, called loess, in and around the middle Mississippi Valley.

Natural vegetation patterns could be displayed on a map of North America, but the enormous
human modification of the North American environment in modern times has all but reduced this
regionalization scheme to the level of the hypothetical. Nonetheless, the humid America-arid America
dichotomy is still a valid generalization: the natural vegetation of areas receiving more than 20 inches
of water yearly is forest, whereas the drier climates give rise to a grassland cover. The forests of
North America tend to make a broad transition by latitude. In the Canadian North, needle-leaf
forests dominate, but these coniferous trees become mixed with broadleaf deciduous trees as one
crosses the border into the Northeast United States. As one proceeds toward the Southeast, broadleaf
vegetation becomes dominant. Arid America mostly consists of short-grass prairies or stepper. The
only areas of true desert are in the Southwest.

56-What aspect of North America does the passage mainly discuss?
1) The wide variety of climates
2) Soil types and vegetation patterns
3) Improved irrigation methods and the expansion of agriculture
4) The change in precipitation patterns
57-According to the passage, acidic soils tend to be associated with ... .

1) a high salt content 2) an increase in farming
3) large amounts of rain 4) glacial meltwater
58- How did glacial meltdown affect the soil in North America?
1) It redistributed the soil types. 2) It added salt to the soil.
3) It made the soil more neutral in content. 4) It added minerals to the soil.

59-The phrase “the natural regionalization scheme” in paragraph 2 refers to the ... .
1) movements of glacial deposits
2) patterns of natural vegetation and animal diversity
3) human modification of the North American environment
4) distinction between humid America and arid America
60-The passage supports which of the following statements?
1) Arid America is not necessarily characterized by the presence of deserts.
2) Most of Canada and the northeastern United States consists of short-grass prairies wherever natural
vegetation has not been modified by humans.
3) The accumulation of loess is primarily the result of irrigation.
4) Glaciation removed the fertile layer of soil from much of the Mississippi Valley.
PASSAGE 2:

Researchers have found that migrating animals use a variety of inner compasses to help them navigate.
Some steer by the position of the Sun. Others navigate by the stars. Some use the Sun as their guide
during the day, and then switch to star aviation by night. One study shows that the homing pigeon uses
the Earth’s magnetic fields as a guide in finding its way home, and there are indications that various
other animals, from insects to mollusks, can also make use of magnetic compasses. It is of course very
useful for a migrating bird to be able to switch to a magnetic compass when clouds cover the Sun,
otherwise it would just have to land and wait for the Sun to come out again.

Even with the Sun or stars to steer by, the problems of navigation are more complicated than they
might seem at first. For example, a worker honeybee that has found a rich source of nectar and
pollen flies rapidly home to the hive to report. A naturalist has discovered that the scout bee delivers
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her report through a complicated dance in the hive, in which she tells the other workers not only how
far away the food is, but also what direction to fly in relation to the Sun. But the Sun does not stay in
one place all day. As the workers start out to gather the food, the Sun may already have changed its
position in the sky somewhat. In later trips during the day, the Sun will seem to move farther and
farther toward the west. Yet the worker bees seem to have no trouble at all in finding the food source
as their inner clocks tell them just where the Sun will be, and they change their course
correspondingly.

61-What is the main idea of the passage?
1) Bees communicate with each other by dancing.
2) Animals have internal steering devices.
3) The Sun is necessary for animal navigation.
4) The Earth’s magnetic fields guide pigeons home.

62-The author mentions all of the following natural phenomena that help animals navigate EXCEPT ... .

1) the Sun 2) the stars
3) magnetic fields 4) wind direction
63-What makes it necessary for a bird to rely on a magnetic compass when navigating?
1) The possibility of bad weather 2) The constant motion of the Sun
3) Its patterns of migration 4) Its need to constantly change homes

64-According to the passage, what information does the dance of the scout bee communicate to the
other worker bees?

1) The time of day 2) What the weather is like
3) How far away the food is 4) Which flowers the scout has found
65-Despite the changing position of the Sun, bees are still able to steer by the sun because they ... .
1) are equipped with biological time clocks 2) fly in formation behind the scout bee
3) have excellent eyesight 4) have long memories
PASSAGE 3:

Foot racing is a popular activity in the United States. It is seen not only as a competitive sport but also
as a way to exercise, to enjoy the camaraderie of like-minded people, and to donate money to a good
cause. Though serious runners may spend months training to compete, other runners and walkers
might not train at all. Those not competing to win might run in an effort to beat their own time or
simply to enjoy the fun and exercise. People of all ages, from those of less than one year (who may be
pushed in strollers) to those in their eighties, enter into this sport. The races are held on city streets,
on college campuses, through parks, and in suburban areas, and they are commonly S to 10
kilometers in length.

The largest foot race in the world is the 12-kilometer Bay to Breakers race that is held in San
Francisco every spring. This race begins on the east side of the city near San Francisco Bay and ends
on the west side at the Pacific Ocean. There may be 80,000 or more people running in this race
through the streets and hills of San Francisco. In the front are the serious runners who compete to
win and who might finish in as little as 34 minutes. Behind them are the thousands who take several
hours to finish. In the back of the race are those who dress in costumes and come just for fun. One
year there was a group of men who dressed like Elvis Presley, and another group consisted of
firefighters who were tied together in a long line and who were carrying a fire hose. There was even a
bridal party, in which the bride was dressed in a long white gown and the groom wore a tuxedo. The
bride and groom threw flowers to bystanders, and they were actually married at some point along

the route.
66-The main purpose of the passage is to ... .
1) encourage people to exercise 2) describe a popular activity
3) make fun of runners in costume 4) give reasons for the popularity of footraces
67-The word “camaraderie” as used in paragraph 1 could be best replaced by which of the following?
1) games 2) companionship
3) jokes 4) views

68-Which of the following is NOT implied by the author?
1) Foot races appeal to a variety of people.
2) Walkers can compete for prizes.
3) Entering a race is a way to give support to an organization.
4) Running is a good way to strengthen the heart.
69-Which of the following is NOT mentioned in the passage?
1) Some runners were ready to put out a fire.
2) Some runners looked like Elvis Presley.
3) Some runners were participating in a wedding.
4) Some runners were serious about winning.
70-Which of the following best describes the organization of the passage?
1) Chronological order 2) Cause and result
3) Statement and example 4) Specific to general
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